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MATHS
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1. B B :ﬁog zide

° Watch Video Solution

2. 57T 1HA I :/(log:v)2dx

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PaaGLdbw3vFh
https://dl.doubtnut.com/l/_5sgPdHuKGmcN

3. YFIBA~ Bl :ﬁog(2:c2 + 5z — 12)dz

° Watch Video Solution

4, NP BRI :ﬁog(m + vx? + a2>daz

° Watch Video Solution

5. 17 fAdfT d@t: Jcos ! zdz

° Watch Video Solution

6. I fAdg WT:/(sin_ 1 w) 3da:

| ° Watch Video Solution


https://dl.doubtnut.com/l/_5sgPdHuKGmcN
https://dl.doubtnut.com/l/_6rlYh7yMlbTs
https://dl.doubtnut.com/l/_LNXu5BqfvLaZ
https://dl.doubtnut.com/l/_7jdXGM5Shjqi
https://dl.doubtnut.com/l/_xTNJFpX8ZGtb

7. 917 fAdg d@t: [cos ! Vzdz

° Watch Video Solution

8. /can_l rdz AST F@, 1784, [cot ~ ! zdz AT Bl

° Watch Video Solution

9. T IBAA PET: /B2e‘”d:c

o Watch Video Solution

10. fARfeTRIG STa1Pet uft Ay @ [ sin 2zdx

V.


https://dl.doubtnut.com/l/_xTNJFpX8ZGtb
https://dl.doubtnut.com/l/_rSGGfObEFzNE
https://dl.doubtnut.com/l/_lhlJWPjQzfyD
https://dl.doubtnut.com/l/_othCpbOdk8Ng
https://dl.doubtnut.com/l/_67ZUq1vAF945

| W Vvatch Video >Solution

1. fARfAe Siea it AT d@t: (22 cos zdx

° Watch Video Solution

2z

12. 7915 fAfg Bt [sin !
+ 2

de[— 1<z <1]

o Watch Video Solution

13. TR fAfg ZIT(.?IT:/e — 2% 3

o Watch Video Solution

14.8’Wﬁ‘f§rmz/n4(logw)2daz

f  _


https://dl.doubtnut.com/l/_67ZUq1vAF945
https://dl.doubtnut.com/l/_2eUEyduTben0
https://dl.doubtnut.com/l/_Cl2Ky47o0iG0
https://dl.doubtnut.com/l/_cK1gkM8Zqvsh
https://dl.doubtnut.com/l/_te0z4Bky1xUw

| o Watch Video Solution

15. TP SEL: |22 cos® zdz

o Watch Video Solution

16. JIF fAT S@M: [cos(logz)dx

o Watch Video Solution

17. 57815 S [cos 2z log(1 + tanx)dz

° Watch Video Solution

18. THTHAA <1>(.<ﬂ:/e"’” [log(secx + tanz) + secz]dz


https://dl.doubtnut.com/l/_te0z4Bky1xUw
https://dl.doubtnut.com/l/_KbjD3YcCf74f
https://dl.doubtnut.com/l/_KGN5Q3ZKvC6F
https://dl.doubtnut.com/l/_GVcYt6740Pw5
https://dl.doubtnut.com/l/_dw6bygcMpEj2

o Watch Video Solution

2 + sin 2z
1 + cos2x T

19. T 1HPAA <r>(.<1|:/e”“

o Watch Video Solution

logx

dx

20. A [HBeTA <D(.<I|:/ 5
(14 logz)

° Watch Video Solution

e”(x — 4)
PARRIGEE! <D(.<1I:/—3d:v
(z —2)

° Watch Video Solution



https://dl.doubtnut.com/l/_dw6bygcMpEj2
https://dl.doubtnut.com/l/_IJEKt4fdwk17
https://dl.doubtnut.com/l/_bombdpe4r9fo
https://dl.doubtnut.com/l/_bG1pj5nCNgGM

x(m?’ +x + 1)
22, A [PeTA <1>(.<ﬂ:/‘e - dx

(14 x?)2

° Watch Video Solution

23. TATHeT <1>(.<1|:/ez$ cos 3zdx

o Watch Video Solution

24. T fAofg S@t: [2°* sindzdz

o Watch Video Solution

25. J1F fAdg EIT(.?IT:/e ~2% gin 3z sin 4z dx

o Watch Video Solution



https://dl.doubtnut.com/l/_XBtSJIW7P1h9
https://dl.doubtnut.com/l/_NV9YqI5DtfLP
https://dl.doubtnut.com/l/_dELRKyZWZfCd
https://dl.doubtnut.com/l/_uxaaS8xSGz34

26. JI7 fAdfg Bt : 9°

o Watch Video Solution

27. fAferfdo Tardasfer ﬁcf.zrm:/\/zﬁ — bz — 4dx

o Watch Video Solution

28.%%8%%@@:/%4 — 3z — 3z%dx

o Watch Video Solution

29, IBEIGINS S RIC R fadfy
/\/(33 ~ )8 — z)dz(a < z < B)

f


https://dl.doubtnut.com/l/_uxaaS8xSGz34
https://dl.doubtnut.com/l/_amMer04Ss4Js
https://dl.doubtnut.com/l/_xNnp3BLnQ0fT
https://dl.doubtnut.com/l/_4wg1vqCIGoj4
https://dl.doubtnut.com/l/_suxNOmNFASdI

| o Watch Video Solution

30. fAfeTfe SIS nfa fAdg F@t: [secd 0dO

° Watch Video Solution

dx
31. DA Idl:
x + vVz2 + a?

o Watch Video Solution

32, AP I [Je” cos zdx

° Watch Video Solution

T + cos T
33. P Pl |—————dzx
1 —sinx



https://dl.doubtnut.com/l/_suxNOmNFASdI
https://dl.doubtnut.com/l/_sHdN1LlTWADe
https://dl.doubtnut.com/l/_VAYJnN8BPCPy
https://dl.doubtnut.com/l/_yclXeGZARKE8
https://dl.doubtnut.com/l/_uMlCrAFeY73s

o Watch Video Solution

tan(90° — A)cot A

5 —cos’ A
cosec’A

34. J17 fAdg Pt

° Watch Video Solution

og(1 + z?)
35. DB~ Bl: 5 dz
(z +1)

o Watch Video Solution

36. /sin_la:d:c — zsin 'z + f(z) + c A f(x) T TR—

A1 — 2

B. log(l + 332)


https://dl.doubtnut.com/l/_uMlCrAFeY73s
https://dl.doubtnut.com/l/_hUGs9Mkn7nYv
https://dl.doubtnut.com/l/_tix2UG4Rr1p7
https://dl.doubtnut.com/l/_ZtnIg20rCqhY

C. 1—|—:c2

D. log‘l — :132|

Answer: A

° Watch Video Solution

1. ﬁ:an_l cdr = ztan 'z + klog(l + xz) + ¢ ACTEAT HIA—

A2


https://dl.doubtnut.com/l/_ZtnIg20rCqhY
https://dl.doubtnut.com/l/_U0Io3FfftV2F

Answer: B

o Watch Video Solution

2. 2Bbe1d AAGH uSvAEdHDd ?ﬁ)‘ OIFIPAIST AR

/wvda: — é(z) - /[j_’; fvdaz] 23 () a7 TH—

A v fudw
B.u /de

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_U0Io3FfftV2F
https://dl.doubtnut.com/l/_QESmBkhPH6hZ
https://dl.doubtnut.com/l/_NfA7BiGme9gE

Answer: C

o Watch Video Solution

4, /\/:c2 — a’dx = %\/xz —a® + klog’w + z? — a2’ +c

?(e, kAJ JIv—

0,2

A —
2

B. 2a°


https://dl.doubtnut.com/l/_NfA7BiGme9gE
https://dl.doubtnut.com/l/_y1wE7cQOB2pB

C. —2a>

D. ATid (BIAIBR 47

Answer: D

° Watch Video Solution

axr
5. /9‘“” sinbrdr = %sin(bx +m) + REm =
va* + b
b
A —tan~ ! =
a
b
B.tan ! —
a
a
C.tan™ ' =
ooy
D. —tan ! a
b
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y1wE7cQOB2pB
https://dl.doubtnut.com/l/_NKtGR8FV4D4j

6. I p < 027, ©W /\/px2 + gz + rdz SBIE THIBA A

(BIF TPl Jad My Ay Sat q1g?

TR = ST+ Srodle P e
B. /mdm - %\/a2 — 224 %28111_1% +ec
C.

VTR = ST Srodle ] e

D. AQi{qi C

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NKtGR8FV4D4j
https://dl.doubtnut.com/l/_2031815kPIxF

7.9 = /ez cos xdx AR I, = /e“’ sinzdz ORI + I, =

A —e®sinx + c
B.esinx + ¢
C.e*sinz + ¢

D.e“cosxT + c

Answer: C

o Watch Video Solution

8. M IHeTA <D(.<1I:ﬁ0gwd:c

o Watch Video Solution



https://dl.doubtnut.com/l/_QMgcP9YndY0c
https://dl.doubtnut.com/l/_9iWQtFnSkVpl

9, A THIA <1>(.<1|:ﬁ: cos zdx

o Watch Video Solution

10. AHIHAA <1>(.<1|:/ce‘"”dx

o Watch Video Solution

11. DA <D(.<1|:/fn sin zdx

o Watch Video Solution

12. TFIBAA BEH: [z sec? zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_JyYjv7c7OMp3
https://dl.doubtnut.com/l/_7e8ykVooIf7d
https://dl.doubtnut.com/l/_Ww3oibINiRSO
https://dl.doubtnut.com/l/_vTeGq7SMXrtr

1

13. AAIHcTA <D(.<1I:/sin_ rdx

o Watch Video Solution

14. THIBAA <D(.<1I:/:ot 1 zdx

o Watch Video Solution

1

15. TP IA <D(.<1I:/sec_ rdx

o Watch Video Solution

16. THIBAA BE!: [cos ec ™ 'zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_IvPDBubTlXSo
https://dl.doubtnut.com/l/_wAGPuxAotJCc
https://dl.doubtnut.com/l/_UpxKqBUj5Scz
https://dl.doubtnut.com/l/_yxKKITEqRSl0

1
17. 1B <1>(.<1|:ﬁ:os_1 (E)dw

° Watch Video Solution

18. S IHAA <D(.<1|:f13" log xdx

o Watch Video Solution

19. T IHAA <D(.<1I:/zc sin~ ! zdz

o Watch Video Solution

20. ST IPeA <r>(.<1|:fz:2 sin zdz

o Watch Video Solution



https://dl.doubtnut.com/l/_EP6fPet0iqoC
https://dl.doubtnut.com/l/_YDRf7amO7IKT
https://dl.doubtnut.com/l/_UcQHExr0rHlN
https://dl.doubtnut.com/l/_PxWq1Rxbc8pE

21. I <D(.<1|:/(x + 1)’ log zdx

o Watch Video Solution

1

22. 51 1PAA <1>(.<||:/x tan " xzdzx

o Watch Video Solution

og(1 — z)
23. AT Ih A Hdl: —2dm
XL

° Watch Video Solution

24. THIBA Pl /:n?’e“”’d:c

° Watch Video Solution



https://dl.doubtnut.com/l/_GN11S9KIqiwD
https://dl.doubtnut.com/l/_JAfOYekykCIX
https://dl.doubtnut.com/l/_rnG4vlzZp3So
https://dl.doubtnut.com/l/_AHF8MP43g9UD

25, N IHAN <|>(.<||:/(cos‘1 z + logz)dz

o Watch Video Solution

26. THIBeTA <I>(.<II:/(10g V) da

o Watch Video Solution

27. TN BQE: 22 — 4,/22 + 6 = 0

o Watch Video Solution

28. STIBAN FUAT: fc?’(logx)zda:

° Watch Video Solution



https://dl.doubtnut.com/l/_7AVZijGUTZmL
https://dl.doubtnut.com/l/_v2tBWrJLLJss
https://dl.doubtnut.com/l/_9j3iO0TB3QI3
https://dl.doubtnut.com/l/_ZcXWgz2dxFFI

29, STHIBAN <b(.<||:/log(a: + /2% — az)dzc

o Watch Video Solution

30. STFIBeTA <r>(.<1|:fclog(x + a2 + az)da:

o Watch Video Solution

31. TP <D(.<1I:/1:3 sin zdz

o Watch Video Solution

32. 1P BE: [sin ™' (,/z)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_e0cH6U24sOFU
https://dl.doubtnut.com/l/_mhx54NyED1Nz
https://dl.doubtnut.com/l/_WusirznpuAZP
https://dl.doubtnut.com/l/_ZyCdA5SNI1ql

33, THIBeTA <D(.<Ilz/log(1 +z) T de

o Watch Video Solution

2

1 — 22

34, YIHIA <D(.<1I:fca,n_1 de(—1<z <1)

o Watch Video Solution

2
11—z

1+ z2

35. 37 1BAA <D(.<ﬂ:/cos_ dz[0 < z < oo

° Watch Video Solution

36. ST IBAA <D(.<ﬂ:ﬁog(sin x)cos xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_iHW28xuVLLeM
https://dl.doubtnut.com/l/_1ySSGogjvTVW
https://dl.doubtnut.com/l/_LjJ4hHgk84Y2
https://dl.doubtnut.com/l/_v4kk7X0vmHk2

rsin~ !z
37. 391PcAd dl: [—dzx

V1— a2

o Watch Video Solution

3
38. MATHAA <I>(.<II:/9$ z’dx

o Watch Video Solution

39, 5P eTd <D(.<II:/
1 + cos2zx

o Watch Video Solution

40. JHTPAA SI: |z sinx cos xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_GhWKoC0mBLy1
https://dl.doubtnut.com/l/_R9sxtCZA0UV6
https://dl.doubtnut.com/l/_I3zmS9YYJesm
https://dl.doubtnut.com/l/_31qePwm8C2I2

41, TP <p(.<1|:ﬁ:2 cos? zdzx

o Watch Video Solution

T + sinx
42, HIPcTA <r>(.<1|:/—da:
1+ cosx

o Watch Video Solution

43, TP <1>(.<||:f1:2102"”da:

o Watch Video Solution

44, THIBAF FEE: 22 sin ™! 3zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_VpYf0hZZsO58
https://dl.doubtnut.com/l/_TTlBfsoZQLGu
https://dl.doubtnut.com/l/_ss5yoqoSVaa8
https://dl.doubtnut.com/l/_VjAjUCpwGwbY

45, ST 1HAA <D(.<1I:/(sin_1 m)2dm

o Watch Video Solution

|

No| =

1
46. THIHPTA <D(.<ll:/sin_1(3:c — 4:c3)dsc [ 3 <z<

o Watch Video Solution

—z3 1 1
47. AH1HeTA <D(.<1I:/can_1 de [ —— <z < —]

1 — 3z2 V3 V3

o Watch Video Solution

_]_w

COS
48. THIPcTA <p(.<n:/—3dac
XL

o Watch Video Solution



https://dl.doubtnut.com/l/_urYG5W2v3wNA
https://dl.doubtnut.com/l/_xkn9DUpUlWdV
https://dl.doubtnut.com/l/_4DS3gHwtlDpr
https://dl.doubtnut.com/l/_8PuQ6Z5WKrjK

11—z
1+=x

49, ST 1BAF BT [tan ! dz

o Watch Video Solution

-1
Sin xXr
50. AT THAA <D(.<ﬂ:/—da:

(1-a%):

o Watch Video Solution

51. TP AA <|>(.<1|:/L,da:
1+ sinx

o Watch Video Solution

T — sinx
52. AqIdAN dl: [——dx
1 —coszx

.Y


https://dl.doubtnut.com/l/_8PuQ6Z5WKrjK
https://dl.doubtnut.com/l/_Ib6VwvQcWdiA
https://dl.doubtnut.com/l/_3ZG4X0nRZhlk
https://dl.doubtnut.com/l/_OvZ9OP7CzXjW
https://dl.doubtnut.com/l/_NjSgAk9RC6YX

| ¥ vvatcn video Solution

53. HTHAA <D(.<1I:/sec:c log(secz + tanz)dz

o Watch Video Solution

54. TR <D(.<1I:/cos z log(cos ecx + cot z)dz

o Watch Video Solution

55. STHIBeTA <I>(.<II:/can_1 Vzdz

o Watch Video Solution

56. I [HeTA <1>(.<||:fz: sin x sin 2zdx

[ -


https://dl.doubtnut.com/l/_NjSgAk9RC6YX
https://dl.doubtnut.com/l/_Djt0Zcm3WnfI
https://dl.doubtnut.com/l/_qtJQRkXKx1Ma
https://dl.doubtnut.com/l/_9ZZXq6oV1vtq
https://dl.doubtnut.com/l/_9C5tsRb5l4lF

| Y Watch Video Solution

57.5T1HAN SEH: [z tan z sec’ zdx

o Watch Video Solution

.1
Sin X
58. AHIHdAA <1>(.<1|:/—d:1:

2

o Watch Video Solution

< —1
Sin X
59. AHIHAA <1>(.<n:/—da;

(1 a2

° Watch Video Solution



https://dl.doubtnut.com/l/_9C5tsRb5l4lF
https://dl.doubtnut.com/l/_QVXoiquyl9ud
https://dl.doubtnut.com/l/_jwIyS20fLXCB
https://dl.doubtnut.com/l/_oMFSBGV4otkC

60. M THeTA <D(.<1I:/ca,n:c logsec zdzx

o Watch Video Solution

Z

61. 1B @(sll:/%(a:logm + 1)dz

o Watch Video Solution

1 1
62. 5T 1PhcTA <1>(.<||:/ — 5 dx
logz  (logx)

o Watch Video Solution

1
63. A THeTN d)(sll:/(;)log(logw)dw

o Watch Video Solution



https://dl.doubtnut.com/l/_scs9BCCDBXe2
https://dl.doubtnut.com/l/_na0IO5SpxAhb
https://dl.doubtnut.com/l/_zIGMraMAWhFY
https://dl.doubtnut.com/l/_IF3cvqddcuOQ

1 1
64. TH1HAA <1>(.<n:/e$ (— — —)da:
T x?

o Watch Video Solution

re®
65. 3 1PhIA <D(.<II:/—2da:
(z +1)

° Watch Video Solution

66. ST 1B <1>(.<II:/9“"(ta,na: — log cos x)dz

o Watch Video Solution

67. 71 <1>(.<n:/(1 — sinz)cos zdz

| ° Watch Video Solution


https://dl.doubtnut.com/l/_IF3cvqddcuOQ
https://dl.doubtnut.com/l/_g3QbwqXrVBKK
https://dl.doubtnut.com/l/_enHYUVOP6YZ0
https://dl.doubtnut.com/l/_pKO4uLufcTH8
https://dl.doubtnut.com/l/_7hdfmrg1UqbK

sin 2z
68. A [PpcTd Pl | ————dx
1 — cos2x

° Watch Video Solution

sinx

69. A TPcTA <1>(.<II:/—
1+ cosx

° Watch Video Solution

1+ x2
70. TH1HTA <T>(.<1I:/ex+—da:

(14 z)?

° Watch Video Solution

9
71./"“r dz
r+4

[ =


https://dl.doubtnut.com/l/_7hdfmrg1UqbK
https://dl.doubtnut.com/l/_HZwMLLUWAz9i
https://dl.doubtnut.com/l/_rJKG3Wq2dEsA
https://dl.doubtnut.com/l/_kFwVxwQO5k8N
https://dl.doubtnut.com/l/_GCrIksaRLLdZ

| @ Watch Video Solution

72. TJ1H A Bl: /ew sin zdx

° Watch Video Solution

VERRIGER <1>(.<II:/93”” cos 4zxdzx

° Watch Video Solution

74. 1P cAA qv(sll:/z“’ sinzdx

o Watch Video Solution

75. THIHAA <1>(.<1|:/329” cos 2zdzx



https://dl.doubtnut.com/l/_GCrIksaRLLdZ
https://dl.doubtnut.com/l/_154fkC2EAVoa
https://dl.doubtnut.com/l/_ReezzzC2dVwJ
https://dl.doubtnut.com/l/_TyjoMzKeg0qx
https://dl.doubtnut.com/l/_EfWvCvX4Dva9

° Watch Video Solution

76. q1PeTA <D(.<II:/39” cos? zdzx

o Watch Video Solution

77. AFIHAA <D(.<1|:f3"” cos® zdx

o Watch Video Solution

78. AHHAA DI [€” sin  sin 2zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_EfWvCvX4Dva9
https://dl.doubtnut.com/l/_5G9D2eLwQMGR
https://dl.doubtnut.com/l/_11zYWjSjbhH1
https://dl.doubtnut.com/l/_pRnaX6suckmT

-1
etam T

79. 7 TPpTA <D(.<1I:/—2da:
(1+ z2)

o Watch Video Solution

2tan*1m(1 + CC)2

T2 dzx

BO.WET@T:/G

o Watch Video Solution

81. 1B <D(.<1I:/cos ecczdr

o Watch Video Solution

t -1
82. M IPeTA <1>(.<1|:/de
(1+ 2?)

o Watch Video Solution



https://dl.doubtnut.com/l/_JOn0AHruJ3Qz
https://dl.doubtnut.com/l/_MJpYhhTbRBe3
https://dl.doubtnut.com/l/_jVLjJBvxCemx
https://dl.doubtnut.com/l/_vz0dKpIRFZ2i

lo +1
83. A IdIA d)(sll:/de
Ve +1

° Watch Video Solution

M.Wm:/sin—ﬁ/ Y dz
a+x

° Watch Video Solution

in(1
s [12057)
3

o Watch Video Solution

86. ST IBAA <1>(.<1|:/ 4z% — 9dz

| ﬂlll s 1 we1l -~ 1 P


https://dl.doubtnut.com/l/_vz0dKpIRFZ2i
https://dl.doubtnut.com/l/_zHt6feupySa2
https://dl.doubtnut.com/l/_2rNASVt7XOGq
https://dl.doubtnut.com/l/_FgkNgujwRF9U
https://dl.doubtnut.com/l/_ZNzWyaKRj4zv

| " vvaldl viaco >0Iidtion

87. THIBA <D(.<1|:/(zc3 + a*)dzx

o Watch Video Solution

88. P <1>(.<||:/ 4 — 9x2dx

° Watch Video Solution

89, B <1>(.<1|:/\/:z:2 + x + 1dz

o Watch Video Solution

90. TP <D(.<1|:/\/2aa: — z%dx

[ =


https://dl.doubtnut.com/l/_ZNzWyaKRj4zv
https://dl.doubtnut.com/l/_QHh836Z8n3va
https://dl.doubtnut.com/l/_SdFBXRl9KjQ9
https://dl.doubtnut.com/l/_KsPvcuACrwft
https://dl.doubtnut.com/l/_SEmuRPMBab24

| @ Watch Video Solution

91. THIBeTA <1>(.<n:/\/4 — 3z — 2z%dx

° Watch Video Solution

92. SHIHeTN <1>(.<II:/\/(:1: —2)(6 — z)dz

o Watch Video Solution

93, NHIBeT <1>(.<1I:/\/3x2 + 10z + 3dz

o Watch Video Solution

2 +1
94, Y IPAA Pl | —————dx

V1 — z2



https://dl.doubtnut.com/l/_SEmuRPMBab24
https://dl.doubtnut.com/l/_nUc4XmSyHBbV
https://dl.doubtnut.com/l/_9smpAYYr73ZB
https://dl.doubtnut.com/l/_lAJCOv7nqiWn
https://dl.doubtnut.com/l/_XeaXd5eXeSEV

o Watch Video Solution

dx
x —+zx? -1

95.

o Watch Video Solution

r+ve2—1 zx—+z2-1

96. 3dcT Pl : + aJ9d AJeTde 14

x— V2 —1 x4+ V2 -1
419 x-a9 T fAT St

o Watch Video Solution

97./(:1: —1)y/2* + = + ldz

° Watch Video Solution



https://dl.doubtnut.com/l/_XeaXd5eXeSEV
https://dl.doubtnut.com/l/_o80a0LSMAv0i
https://dl.doubtnut.com/l/_XIYDeLw0NFeZ
https://dl.doubtnut.com/l/_x6e5KK5MSA29
https://dl.doubtnut.com/l/_ivMQcFSGVS3d

98. TP B /ez*’” sin 5zdzx

° Watch Video Solution

99. ﬁsin(logw) + cos(logz)]dz

o Watch Video Solution

100. T 1HAA <D(.<ﬂ:/(elog"” + sin a:) cos xdx

° Watch Video Solution

101. 7T 1B <1>(.<1|:/sin(log z)dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_ivMQcFSGVS3d
https://dl.doubtnut.com/l/_DADpmRTx8JbD
https://dl.doubtnut.com/l/_M0LJl2FSgKue
https://dl.doubtnut.com/l/_DiKRCTCV6xxp
https://dl.doubtnut.com/l/_cgfZaL9yaMMX

102. HIBAN @ [2e dr

o Watch Video Solution

103. TF P BEH: /9‘””+bda:

° Watch Video Solution

104. THIHAF BEl: /33‘” sindzdz

o Watch Video Solution

105. T IHAT BE: /aeb‘”d:c

o Watch Video Solution



https://dl.doubtnut.com/l/_cgfZaL9yaMMX
https://dl.doubtnut.com/l/_JUezKdVjGCdf
https://dl.doubtnut.com/l/_zgEqSgPrIXDA
https://dl.doubtnut.com/l/_xC8ijQ6QCHYC

106. TP <1>(.<||:/ 4x% — 9dzx

o Watch Video Solution

107. B BEl: / x> + 9dzx

o Watch Video Solution

108. /a:2e_2$da: —e 2 (a:z:2 + bx + c) + d3g, 0[@—

Aa=1
B.b=2
c _1
.c—2


https://dl.doubtnut.com/l/_cogxTWihqBfu
https://dl.doubtnut.com/l/_G8Do3dZdJjJi
https://dl.doubtnut.com/l/_keiZyNZJtFnD

Answer: A::C::D

o Watch Video Solution

109. TP BEL: /em‘ldm

o Watch Video Solution

110. B AF Pdl: /cos 5z cos dxdx

o Watch Video Solution

M. TTBAF IEL: /(;2”” cos dxdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_keiZyNZJtFnD
https://dl.doubtnut.com/l/_fs42brADLvYR
https://dl.doubtnut.com/l/_x7oeQHfAvidK
https://dl.doubtnut.com/l/_vDMPgKE5KhVN
https://dl.doubtnut.com/l/_p5Wx9msHPkdh

112. am

/52‘” cos 2zdx =

T

> [(log K)cos 2z + sin 2z] + ¢?9,
(logK)" +4

O Ka9 J17 20d—

o Watch Video Solution

1 1—cosz
1M3. jtan -~ ——dx
sinx

o Watch Video Solution

z2 +1 1
M4, [————dx = —[Ksin_lw —xy1— xz] + ced O
V1— z? 2

K a3 917 29—

° Watch Video Solution



https://dl.doubtnut.com/l/_p5Wx9msHPkdh
https://dl.doubtnut.com/l/_et7c7hOJFKy4
https://dl.doubtnut.com/l/_NjuWdZQuI9mC

115. /\/(x —2)(6 + z)dz

° Watch Video Solution

116. QI SRXIB STTIBARG AN (T ST ST PeT FIeiqd ST

n — a3 399 fRE T, SId TLDHI Ja fAfT Tt T
v/ b
T dx _ axr + 4 dx te
z"/axr + b (n— 1)bzn—1 " 1\/ax + b

T B[AA] T AT—

2n — 3
A 2n — 1
2n—3 a
n—1 b



https://dl.doubtnut.com/l/_x7AlLqUVNaZR
https://dl.doubtnut.com/l/_k7aJceIpvbAB

| P Watch Video Solution

117. T SAIID THIBFAAI SIS (T B ST IBe Fiaifdd eyt

n-939 857 NS TieT, Bitig TgBa 3@ fAT FT |

m+1

cos™x COoS T cos™x
ﬂﬁ/ dx = — 1 — A/—_2d£13 —|— C
"y sin" ‘x

sin” @ (n — 1)sin in

T O AA] T4 2[d—

m—n-—+ 2
A —M
n—1
m-—n—+ 2
n— 2
m-—n

C.
n— 2

m—n-+1
n—1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k7aJceIpvbAB
https://dl.doubtnut.com/l/_mkbCVcjyYKxY
https://dl.doubtnut.com/l/_cdI9u8hJ6lx0

118. I WP STIIBARG AT (T ST ST IPeT Fiaifqd YTl

n-939 857 ST, Bitig eTgdad 3@ fAT FaT T |

cos™ cos™ 'z cos™ 2
afi dz = g
T

x
— — dr + ¢
sin” (m — n)sin" "~ sin” x

T Od AAJ JI4 29—

Answer: D

o Watch Video Solution

1
19. 9 [tan® zdz = gtan‘r’ r+ Atan®’z + tanz — = + ¢ TG,

Od A AT FH 20—


https://dl.doubtnut.com/l/_cdI9u8hJ6lx0
https://dl.doubtnut.com/l/_K8EY5nKOIzX7

Answer: D

° Watch Video Solution

1
120. I [sec® zdz = gtan‘r’ z + Atan®z + tanz + ¢ T, R

A a3 I [@—


https://dl.doubtnut.com/l/_K8EY5nKOIzX7
https://dl.doubtnut.com/l/_k8toJmjXcrDI

Answer: B

o Watch Video Solution

121. am

n cosec” 2z cot x
cosec'zdr = —

— —|—A/cosec”_2:vd:v T

O AT J14 2@d—

n— 2

n— 2

n—1

n—2

n— 2

n—1

Answer: D

[ 1


https://dl.doubtnut.com/l/_k8toJmjXcrDI
https://dl.doubtnut.com/l/_iPVPkwz3ozqs

l o Watch Video Solution



https://dl.doubtnut.com/l/_iPVPkwz3ozqs

